
MATHS

BOOKS - MBD NCERT SOLUTIONS

ARITHMETIC PROGRESSION

Multiple Choice Questions

1. 30th term of the A.P. 10,7,4,….. Is

A. 77

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tbhOVTe3TPhN


B. 87

C. 

D. None of these

Answer: C

Watch Video Solution

−77

2. 11th term of an A.P. …….. Is

A. 

B. 

−3, − ,
1

2

−38

28

https://dl.doubtnut.com/l/_tbhOVTe3TPhN
https://dl.doubtnut.com/l/_dvOsuLWq3Rj3


C. 

D. None of these

Answer: C

Watch Video Solution

22

3. Find the term of the AP : 2, 7, 12, . . .

A. 45

B. 43

C. 47

10th

https://dl.doubtnut.com/l/_dvOsuLWq3Rj3
https://dl.doubtnut.com/l/_6gonOaERgj4c


D. None of these

Answer: C

Watch Video Solution

4. 10th term of the A.P.

 is

A. 

B. 

C. 

−0, 1, − 0.2, − 0.3, ………

−0.9

−0.8

−1.0

https://dl.doubtnut.com/l/_6gonOaERgj4c
https://dl.doubtnut.com/l/_mQqq1Qi4OiXF


D. 

Answer: C

Watch Video Solution

−1.1

5. Which one is A.P. series ?

A. 

B. 

C. 

D. ……..

2, 4, 8, 12, ……. .

0.2, 0.22, 0.222, ……….

−10, − 6, − 2, 2, …….

1, 3, 9.27

https://dl.doubtnut.com/l/_mQqq1Qi4OiXF
https://dl.doubtnut.com/l/_aQZsbGHTRQ0B


Answer: C

Watch Video Solution

6. In an A.P. 10, 7, 4 ,…….., 30th term is :

A. 97

B. 77

C. 

D. None of these

Answer: A

−77

https://dl.doubtnut.com/l/_aQZsbGHTRQ0B
https://dl.doubtnut.com/l/_FhxPeyEYTdK2


Watch Video Solution

7. In an A.P. 

term is :

A. 66

B. 

C. 

D. None of these

Answer: A

−10, − 6, − 2, 2, ……. .20th

−66

77

https://dl.doubtnut.com/l/_FhxPeyEYTdK2
https://dl.doubtnut.com/l/_L81vqzM7phxu


Watch Video Solution

8. Which one is an A.P. series ?

A. 

B. 

C. 

D. ,…..

Answer: C

Watch Video Solution

a, a2, a3, ….

12, 32, 52, 72, ….

a, 2a, 3a, 4a, …….

1, 3, 9, 27

https://dl.doubtnut.com/l/_L81vqzM7phxu
https://dl.doubtnut.com/l/_F8GjD6qyd5Ey
https://dl.doubtnut.com/l/_ysc7bIH85Cuh


9. Find the term of the AP : 2, 7, 12, . . .

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

10th

−47

47

57

https://dl.doubtnut.com/l/_ysc7bIH85Cuh


10. In an A.P. 2,7, 12,……… 20th term is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−74

47

57

97

https://dl.doubtnut.com/l/_Dm4y28ZUtRq4


11. 15th term of A.P.  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

, , ,
1

3

5

3

9

3

13

3

61

3

6

5

19

https://dl.doubtnut.com/l/_4awVV8AG3ZfV


12. If 3rd term of an A.P. is 5 and 7th term is 13,

then its common difference is :

A. 1

B. 2

C. 3

D. 

Answer: B

Watch Video Solution

4

https://dl.doubtnut.com/l/_8LhuBbL9iZGA
https://dl.doubtnut.com/l/_DmZrl3PpH7On


13. 14th term of an , …… is :

A. 14.9

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.6, 1.7, 2.8, 3.9

16.0

17.1

18.2

https://dl.doubtnut.com/l/_DmZrl3PpH7On


14. If 3rd term of an A.P. is 4 and 9th term is -8,

then the common difference is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−2

2

4

−8

https://dl.doubtnut.com/l/_Hjs035WYNQei
https://dl.doubtnut.com/l/_x119IkDYuwnu


15. 11th term of an A.P. is 

……… is :

A. 38

B. 

C. 

D. 

Answer: A

Watch Video Solution

13, 15 , 18, 20 ,
1

2

1

2

40
1

2

43

45
1

2

https://dl.doubtnut.com/l/_x119IkDYuwnu


16. If 11th term of A.P. is 38 and 16th term is 73,

then its first term is :

A. 7

B. 32

C. 

D. 

Answer: C

Watch Video Solution

−32

−35

https://dl.doubtnut.com/l/_hO94gEMsBMtK
https://dl.doubtnut.com/l/_RXHCIvSwQWEA


17. 15th term of an A.P. ……….. Is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5, 6 , 8, 9 ,
1

2

1

2

15
1

2

14
1

2

26

27
1

2

https://dl.doubtnut.com/l/_RXHCIvSwQWEA


18. If the third term of an A.P. is 12 and 10th

term is 26, then its 20th term is :

A. 46

B. 52

C. 50

D. 

Answer: A

Watch Video Solution

44

https://dl.doubtnut.com/l/_WgQLZyKByaTR
https://dl.doubtnut.com/l/_rC0cEDXLqcFr


19. For an A.P. 2, 7, 12, ………  term will be :

A. 55

B. 57

C. 59

D. 

Answer: B

Watch Video Solution

12th

53

https://dl.doubtnut.com/l/_rC0cEDXLqcFr


20. The sum of first 20 positive integers will be

:

A. 180

B. 190

C. 200

D. 

Answer: D

Watch Video Solution

210

https://dl.doubtnut.com/l/_Xpogjv8JDIch
https://dl.doubtnut.com/l/_VXCTmXLIrf4a


21. Common difference of the A.P.

 is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−5, − 1, 3, 7, ……

−4

2

4

−5

https://dl.doubtnut.com/l/_VXCTmXLIrf4a


22. 19th term of the A.P. 5,9, 13, ………. Is :

A. 77

B. 67

C. 

D. 

Answer: A

Watch Video Solution

−67

95

https://dl.doubtnut.com/l/_KX3Yc4CuL575


23. 11th term of the A.P.,

 is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−3, , 2, …………
−1

2

−38

28

−48
1

2

22

https://dl.doubtnut.com/l/_4HtdSLt6nNqR
https://dl.doubtnut.com/l/_DsFXPmrZIjrC


24. Find the
 sum:


(ii) 
 (iii) 

A. 294

B. 289

C. 286

D. 

Answer: C

Watch Video Solution

1 + 3 + 5 + 7 +  ..  +  199

7 + 10 + 14 +   + 84
1

2

34 + 32 + 30 +  .  + 10

386

https://dl.doubtnut.com/l/_DsFXPmrZIjrC
https://dl.doubtnut.com/l/_9PqITN1t7hfQ


25. Which of them is not in A.P ?

A. 

B. ……..

C. 

D. 

Answer: B

Watch Video Solution

1, − 1, − 3, − 5

−2, 2, − 2, 2, − 2

−10, − 6, − 2, 2, ……. .

2, 4, 6, 8, 10, ……. .

https://dl.doubtnut.com/l/_9PqITN1t7hfQ


26. Sum of the first 20 natural numbers will be

:

A. 120

B. 210

C. 240

D. 

Answer: B

Watch Video Solution

245

https://dl.doubtnut.com/l/_tFLSett3LsFj


Very Short Answer Types Questions

1. For the following A.Ps, write the first term 

and the common difference  

 

Watch Video Solution

a

d

(i)3, 1, − 1, − 3, . . (ii) , , , , ...
1

3

5

3

9

3

13

3

2. Find the common difference of the A.P.

……… .

Watch Video Solution

−5, − 1, 3, 7

https://dl.doubtnut.com/l/_Ev2t7jsyFbLN
https://dl.doubtnut.com/l/_9udPClW19vFT


3. For the following arithmetic progressions

write the first term and
 common difference


(ii) 

Watch Video Solution

, , , ,
1

3

5

3

9

3

13

3
0. 6, 1. 7, 2. 8, 3. 9, ..

4. For the following A.P.'s , write the first term

and common difference : 

(i) 2, 5, 8, 11, .... (ii) -5, -1, 3, 7, ..... 

(iii) 0.6, 1.7, 2.8, 3.9, ...... (iv) 5, 2, -1, -4, .....

Watch Video Solution

https://dl.doubtnut.com/l/_KaFgfT8GXyss
https://dl.doubtnut.com/l/_pyxi1q3k51XF


Short Answer Types Questions

1. Find the sum of the first 40 positive integers

divisible by 6.

Watch Video Solution

2. Find the sum of the first 15 multiples of 8.

Watch Video Solution

https://dl.doubtnut.com/l/_pyxi1q3k51XF
https://dl.doubtnut.com/l/_U30uhN1fmj90
https://dl.doubtnut.com/l/_uW1ZBIMFjlkC
https://dl.doubtnut.com/l/_Vuj52oqRwJjg


3. If the sum of first 7 terms of an A.P. is 49 and

that of its 17 terms is 289, find the sum of first

n terms of the A.P.

Watch Video Solution

4. If the sum of first 6 terms is 12 and sum of

first 10 terms is 60, find the sum of its n terms.

View Text Solution

https://dl.doubtnut.com/l/_Vuj52oqRwJjg
https://dl.doubtnut.com/l/_vCEmLS7vRfq9


5. If the sum of first 6 terms of A.P.is 96 and

sum of first 10 terms is 240 ,then find the sum

of  terms of A.P.

Watch Video Solution

n

6. If the sum of first 10 terms of an A.P is 60

and sum of first 15 terms is -165 then find the

sum of its n terms

Watch Video Solution

https://dl.doubtnut.com/l/_bNTuyyw7D3PQ
https://dl.doubtnut.com/l/_n5DkicY7gF5D
https://dl.doubtnut.com/l/_xCCm3VSmaCw5


7. Cheack whether  is a term of the A.P. 11,

8, 5, 2,……..

Watch Video Solution

−150

8. Which term of the AP : 3, 8, 13, 18, . . . , is 78?

Watch Video Solution

9. Find the sum of the first 12 terms of the A.P.

-37, -33, -29…….. .

https://dl.doubtnut.com/l/_xCCm3VSmaCw5
https://dl.doubtnut.com/l/_tPiA02xRhNPZ
https://dl.doubtnut.com/l/_2V4wtxhwM39z


Watch Video Solution

10. Find the sums given below : (i)

(ii) 

(iii) 

Watch Video Solution

7 + 10 + 14 + . . 
.

+ 84
1

2

34 + 32 + 30 + . . 
.

+ 10

5 + (8) + ( − 11) + . . 
.

+ (230)

11. Find the sum : 

Watch Video Solution

( − 5) + ( − 8) + ( − 11) + …. + ( − 230)

https://dl.doubtnut.com/l/_2V4wtxhwM39z
https://dl.doubtnut.com/l/_JGYvy4d9yQWM
https://dl.doubtnut.com/l/_TaaMo5mZXJ9H


12. Find the sum of first 22 terms of an A.P. in

which d = 7 and 22 nd term is 149.

Watch Video Solution

13. How many terms of the AP : 24, 21,18,... must

be taken so that their sum is 78?

Watch Video Solution

https://dl.doubtnut.com/l/_TaaMo5mZXJ9H
https://dl.doubtnut.com/l/_Iry2Hy6pcQ8y
https://dl.doubtnut.com/l/_OLgemVVOWa7G


14. How many terms of the A.P. 9, 17, 25, …..must

be taken to give a sum of 636 ?

Watch Video Solution

15. How many
three digit numbers are divisible

by 7?

Watch Video Solution

https://dl.doubtnut.com/l/_TlwBCTVmoMbr
https://dl.doubtnut.com/l/_1wd06HoFu46h


16. How many multiples of 4 lie between 10

and 250?

Watch Video Solution

17. How many two -digit numbers are divisible

by 3?

Watch Video Solution

https://dl.doubtnut.com/l/_FvkmdYKxRQIe
https://dl.doubtnut.com/l/_X7ecaDKK4Qsy


18. How many two digit numbers are divisible

by 4?

Watch Video Solution

https://dl.doubtnut.com/l/_CNTI6DWs9nlN

